é}_) Rotatable Angle Piece 90°  Kutu igerigi %
A R M E N D U S Dénebilen Agili Parga 90° Product Box Content

SUPPORT ARM & ENCLOSURE SYSTEMS.

Lam TS EN 50085-1
7 TS EN IEC 61439-1

M6x30  1x W M5 x 20 (x1)

(e 2

WARRANTY

1x [l Brake Plastic

8x ([P M6 x 12 (Loctite)

6x (Jumm— M6 x 25 (Torks)

1x

ARMO050.510 “

Sari renkli banti ¢ikariniz. Yapiskan yizeyi iceri Profili ok yonUnde igeri dogru yerlestiriniz.
gelecek sekilde contayi yerlestiriniz.
(Insert the profile into the coupling as shown in the

(Remove the yellow tape. Place the gasket with adhesive picture below. )

surface inside.)

- -

www.armendus.com




3 Profil civatalarini takiniz. 1 Frenleme pimini, bilye ve yay! yuvasina takiniz.

(Tighten the profile bolts.)

(Insert the metal ball, the spring and the plastic stopper pin
into their sockets. )

¢5x13Yqy./

@5 Bilye
M6x30 (x4) 2 6x8
J6.4 (x4)
ModilU parca igine yerlestin ve civatalarini takin. Kapaklari ve civatalari gorselde ki gibi
konumlandirip montaiji yapiniz.
(Insert the module into the part and tighten the bolts.)
(Position and assemble the covers and bolts as shown
in picture.)
M6 x 25 (Torks)

M6x12 (x8) (Loctite)

www.armendus.com



7 Setskur Montaii 8 Montaiin sekildeki gibi yapildigini kontrol ediniz.

(Check that the assembly is done as shown in picture.)

Note: the plastic stopper pin and the Set screw should be
placed inside the same hole

9 Ust grubu tabla ile birlestirin.
(Combine the assembled top unit and bottom port together.)

Sari renkli banti ¢ikariniz. Yapigkan yizeyi iceri
gelecek sekilde contayi yerlestiriniz.
(Remove the yellow tape. Place the gasket with adhesive
surface inside.)

www.armendus.com




1 1 Profil civatalarini takiniz. 1 2 Profili ok yoninde igeri dogru yerlestiriniz.
( Tighten the profile bolts ) ! ( Insert the profile into the coupling as shown in the

picture below)

J6.4 (x4)
M6x30 (x4)

Kapaklar ve civatalari gorseldeki gibi
konumlandirip montaiji yapiniz.
(Position and assemble the covers and bolts as
shown in picture.)

Sari renkli banti ¢cikariniz. Yapiskan yizeyi iceri
gelecek sekilde contayi yerlestiriniz.
(Remove the yellow tape. Place the gasket with the
adhesive surface inside.)

” M4x8 (x2)

www.armendus.com




Yiksek sizdirmazlik icin contalar kontrol ediniz.

(Check the gaskets for high sealing.)

15

.armendus.com



